
Relations Discrete Structure

Example 5: Consider the relation of C of set inclusion on any

collecbion of sets:

7) A cA for any set, so cis reflexive

2) A cB dose not imply B cA, so cis not symmetric

3) lf A cB. and B cC then (l cC, so cis transitive

4) cis reflexive, not symmetric & transitive, so cis not

equivalence relations

5) A cA, so cis not lrreflexive

6) lf fr cB and B cA then A = B, so cis anei-symmetric

Example 6: lf A =fl,2,3] and R={(7,7),(7,2),(2,7),(2,3)}

ls R equiva lence relation ?

/) 2 is in A but (2,2) eR, so R is not re€lexive

2) (2,3) eR but (3,2) GR, so R is nob symmetric

3) (/,2) eR and (2,3) eR but (7,3) G.R, so R is

not transitive

5o R is not Equivalence relation
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